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QUESTION 1

Select two configurations required to fulfill a Cross Dock order. (Choose two.) 

A. The Replenishment template is required to replenish Cross Dock Order 

B. Wave template should be configured to allocate Cross Dock Order 

C. The Cross Dock Outbound Order type should be defined 

D. IB Shipment Type should be defined for Cross Dock ASN 

E. Module Parameter should be enabled on the RF Receive Screen for receiving Cross Dock ASN 

Correct Answer: AD 

 

QUESTION 2

You are the Inventory Control Supervisor at your employer\\'s East Coast facility. Your employer is a 3PL, 

and your customer is a large company that is also serviced out of the other 3PL facilities. As you start the 

shift, your Inventory Control team members inform you of a significant change in the RF Cycle Counting 

process. 

Lost IBLPNs are now updates with a "00" lock code rather than the expected "LL" code. 

Which scenario is causing this issue? 

A. You dismiss the concern because a change in the lock code has no impact on either the WMS Cloud or host
inventories. 

B. Your counterpart at the 3PL\\'s other facility changed one of the cycle counting company parameters and that
impacted your workflow for that same company. 

C. An inventory team member in the other facility marked a lost case with "00" lock code causing all subsequent lost
cases to be defaulted to the same code across all LPNs for all company/facility combinations. 

D. While counting LPNs at a location, one of your team members marked a lost case with the new lock code. The new
lock code is stored in system memory and applied to all IBLPNs counted as "Lost". 

E. One of your inventory team members changed his/her RF parameter default lock code causing the same
configuration change to propagate to all users in the facility. 

Correct Answer: D 

 

QUESTION 3

Your company is a manufacturing company using a legacy system to define and maintain their Item 
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Master. 

On a daily basis, your company updates and defines new items in the legacy system, which is integrated 

with Oracle WMS Cloud. You are an Inventory Super User. 

Which option will you use to automatically update the Item Master of Oracle WMS Cloud daily from the 

legacy system? 

A. Using the host system to drop the ITMR file into the shared SFTP directory 

B. Creating New Item manually on the Items screen of Oracle WMS Cloud 

C. Manually uploading ITMR file using the Input Interfaces screen 

D. Manually downloading Item Master file from ERP and uploading it to Oracle WMS Cloud 

Correct Answer: A 

 

 

QUESTION 4

What happens behind the flag Only deallocate on Short in the order type screen? 

A. The Order Type has no impact on the Picking Process. 

B. When the parameter is set to YES, during short pick, the system will put the order hold status until more inventory is
available. 

C. When the parameter is set to Yes, then only the shorted quantity will get deallocated form the order. 

D. When the parameter is set to No, the shorted quantity on the order remains in the "allocated" status. 

E. When the parameter is set to Yes, the short pick will cancel the shorted order line automatically and inventory
adjustment will be generated for the item. 

Correct Answer: E 

Reference: https://learn.oracle.com/ords/launchpad/learn?page=picking-modesandcontext=0:44208:44214 

 

QUESTION 5

The above diagram shows a typical Third Party Logistics (3PL) structure. Identify the Facility, Company, and User
levels, as applicable, in sequential order (that is, the proper label for box 1 is listed 1st in sequence). 
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A. 1=Facility 1, 2=Company 1, 3=Company 2, 4=Super User 1, 5=Facility 2, 6=Facility 3, 7=Facility 4 

B. 1=Parent 3PL, 2=Facility 1,3=Facility 2, 4=Company 1, 5=Company 2, 6=Company 3, 7=Company 1 

C. 1=Company 1, 2=Parent 3PL, 3=Company 2, 4=Facility 1, 5=Facility 2, 6=Facility 3, 7=Facility 4 

D. 1=Super User, 2=Parent 3PL, 3=Company 1, 4=Facility 1, 5-Facility 2, 6=Facility 3, 7=Facility 4 

Correct Answer: C 
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